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Newsletter for week ending 13 Nov 2016



North - South




East - West
Monday Day 
Margot O’Brien & Marcia Barmby

Janet Melkonian & Toni Slonim**

Night
Suzie Long & John Arnold


Leonie & Peter Silk
Tuesday Day
Brenda Glyn & Lynne Dorgan**

Lesley Johnstone & Ronda Cross


Night
Janet Reynolds & Peter Cork


Rita Cally & Oliver Goodman
Wednesday
Mike Macrow & Terrence Staunton**
Pippa Thornton & Pamela Hart
Friday

Joan Smurthwaite & Ann Perrott

Steve Curtis & Henry Josling**
Saturday
Sandra Mansell & Margaret O’Bryan

E Neesham & Geraldine Foley**
Hand of the week Monday 07 Nov Board 06 E-W vul Dealer E
Sometimes drawing trumps first is not the right thing to do
After three passes North opens 2NT. East passes and, with both majors, South bids 3( (Stayman). When North shows 4 hearts, South bids game.
On the “normal” spade lead, North should win and play a heart to the A(, and a small heart back to the J( and will therefore lose only the K( and Q( and will end up with an overtrick.
How would you play the hand on a club lead? Now you have three losers, the K( Q( and a club if you play as above. You must therefore try and dispose of the club loser by first trying for 4 spade tricks (wrong) or 4 diamond tricks (right).
So, you win the A(, and play 4 rounds of diamonds discarding a club from dummy. East should let West win this trick. You ruff the club return, cross to the A(, and lead the J(. It doesn’t matter whether or not East covers the J( as you “smother” the 10( and end up with 11 tricks.
The last Red Point event for the year will be Saturday 26th November at 1.00 pm. All welcome.
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